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|

7. How many zeros does the function f(x)= 2* — x* —1 have on the real line?
r (A)2 (B)3 (CO)4 D)3,

1 3. Evaluate E (x-13*dx.(A) 0.5. (B)1 (C)2 (D) diverges. |

4. If f(x) is continuous and j: f(x)dx =4, then jz x f(xYde="?

A2 B4 (O)8 (D) none of the above.

5. 3K y=x* B y=x+1 FrIE Y 2 TR
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. 6. Find the values of x such that the senies Z!’ H" (x —1)" converges.

i
s 3" 0

(A) ~3<x<3 (B) -3sx<3 (C) -2<x<4 (D) ~2sx54.

_ where a is a real number. For which values of a,thematrix A is positive

a 2
| 7.Let A=12 a
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definite. (A) a>2 (B) a<-2 (C) a<-1ora>2 (D) a>0.
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| 1. Let {a,} be asequence of real numbers satisfying ¢,,, = .-!\/e::zrfz +6 . If the initial value is a, =2,

then bma,=
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where ¢ 18 some constant such that [ f(xydx=1. ¥ind ec=_ .

3. Find the maximum of xy under the condition that x*+2y” =1. The maximum 18 _

| f!(x) . \
s —~ eixi f(O):O f(x,} = A
1= f(x)

4. Find the solution of the differential equation:

a = , b=
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6. Following the previous problem (5), assume B is a different matrix with these same gigenvectors

x, and x, but with eigenvalues A, =1 and A, =0.Find B"-2B"=__

| 7. Assume U is the space spanned by {(1,-2,0,3),(0,1,0,-D} and V¥ 1sthe space spanned by

{(1,0,0,0), (0,1,0,0), (0,0,1,0)} . Find the basis for the space of the intersection of U and V. The
basisi1s _ ) '
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| 8.Assumethat 4=|-1 1 | and y= OJ. Find the least squares solution for Ax=y. x=
| 1 -2 !
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9. BEE a>1, lim{k (@ -1} =_

10. #EE a>0, lim{k (@ -1D}=_
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